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UPCOMING ONLINE BATCHES
January 2022

05 Jan 2022

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM
SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM
SSC ONLINE LIVE CLASS

05:30 PM to 07:30 PM
BANK ONLINE LIVE CLASS

BILINGUAL

12 Jan 2022

08:00 AM to 10:00 AM
SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM
BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM
SSC ONLINE LIVE CLASS

BILINGUAL

19 Jan 2022

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM
BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM
SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org

27 Jan 2022

10:30 AM fo 12:30 PM
BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM
SSC ONLINE LIVE CLASS

BILINGUAL
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Seven people A, B, C, D, E, F and G are living in an
apartment. Four of them are women. All seven like different
cars viz. Mercedes, Audi, Ferrari, Porsche, Rolls Royce,
Maserati and Lamborghini. The Apartment consists of seven
floors viz. Orange, Pink, Green, Yellow, Blue, Red and Brown.
Each floor belongs to a single person. The persons who like
Porsche and Mercedes have the same gender. They don’t
live on floors - Blue or Orange. The one who lives on Yellow
floor and B who lives on the Brown floor are male. F likes
Maserati and he doesn’t live on Green floor. The person who
likes Lamborghini doesn’t live on the Orange floor. The
person who likes Ferrari doesn’t live on the Red floor. The
person who likes Audi lives on the Brown flooi{ G neither
likes Porsche nor lives on Pink floor. FTesVellow@esidents
of Pink and Green floors are women. A and B don’t live on
these roors@neither likes Ferrari nor lives on Green or
Blue floor. The person who likes Mercedes is neither D nor E
and, she doesn’t live on Red or Green floors. The one who
likes Ferrari is A and she does not live on Blue or Green
floors. E is a Male. The person who likes Lamborghini is not
a male but lives on the Red floor.

. 1 p’@? ] PM&JL( Gmﬁ&‘
Povehe  |nar | F
ook Wl BT |F

X | :

Masead;

e . . |Xay —

Ldlnb}\fm —L eé p

Fzm-m 5 R«;gz Xc, 'H‘ —
AKJ-C Broin 8 * M O.Q\

Rolls . —
—7 —

Yol _ nrg ™ APit A

P‘l'/( — & 4\ - &ff%

PN Gy 5 o 1A >Ye, 0{ ~


http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

ATd AT A, B, C, D, E, F 3R G TSP SUTCHC A G e 3l 578
wmﬂﬂmm-mW@mmﬁ%

Jrufal , 3iTSY, BN, ute, e 34, AT 3R
QIR sruTcHe W ATd FHivra § srufd | AR, e, 7,



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Car Person Floor Gender Who lives on the Blue floor? A.GB.FC.DD.AE.E
Mercedes C Pink F
Audi B Brown M : — :
— What car does G like? A. Mercedes B. Lamborghini C. Audi
Ferrari A Dra"ge F D.Rolls Royce E. Ferrari
Porsche D (ireen F
Rolls Royce E Blue M —
- Who of the following is not female? A.CB.AC.DD.B
Maserati F Yellow M E. All are female
Lamborghini| G Red F

Who likes Maserati? A.A B.C C.F D.D E.Data inadequate

Which of the following combination of person — car - floor -
gender is correct? A. A — Lamborghini — Green - Female B. C -
Ferrari — Blue - Female C. F — Maserati — Yellow- Male D.G -
Lamborghini — Red - Male E. All are incorrect
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There are two parallel rows with a sitting capacity of six on each side but only five
people are sitting in each row keeping one seat vacant in each row. In row-1, Ravi,
Rahul, Aakash, Mohit and Manish are sitting and facing south. In row-2, Abhinay,
Rakesh, Abhishek, Tapash and Raman are sitting and facing north. All of them like
a different fruit, i.e. Mango, Banana, Apple, Guava, Kiwi, Orange, Pear, Litchi,
Berry and Cherry. Raman sits third to the right of Rakesh and likes Guava.
Only two people sit between Abhinav and the vacant seat. Abhinav does
not like Kiwi or Apple. Manish is an immediate neighbor of Aakash.
Rahul likes Cherry. The one who likes Apple faces the one who likes
Litchi. The one who likes Apple sits opposite the one who sits third right
of the one who sits opposite Raman. Aakash is not an immediate
neighbor of Mohit. Tapash, who likes neither Kiwi nor Orange, does not
face the vacant seat. Neither Raman nor Rakesh sits at the extreme
ends. Mohit faces Rakesh. Vacant seats are not opposite each other. Two
persons sit between Tapash and Abhishek. The one who likes Berry faces
the one who likes Guava. The person who likes Mango and Litchi are
adjacent to each other. The vacant seat of row one is not adjacent of
Mohit. Abhinav sits at one of the extreme ends. Rakesh does not like
Mango and Litchi. The Vacant seat of row one does not face Raman and
also it is not at the extreme ends. Abhishek is an immediate neighbor of
Raman, who faces the person who likes Berry. Rahul faces the vacant
seat in row-2 and sits third to the right of Aakash. Aakash likes Pear
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iahi Cher
Mango Lichi ry Berry Pear
Ravi  Mohit Rahul  vacant panish  Aakash
| | | | ’
| | | | | |
— | |
Tapash Rakesh Vacant Abhishek Raman Abhinav
Banana Apple Kiwi (Guava) Orange

Who sits second to the right of the one who faces vacant
seat of row one? A. Rahul B. Aakash C. Manish D.Abhinav
E. None of these

: Which of the following fruits does Tapash like? A. Apple
B. Kiwi C. Banana D.Guava E. None of these

Ravi is related to the vacant seat of row 1 in the same way
as Tapash is related to Abhishek. So the vacant seat of row
two is related to who among the following? A. Aakash B.
Raman C. Abhinav D.Rahul E. None of these

Who sits diagonally opposite the one who likes Orange? A.
Manish B. Raman C. Ravi D.Rahul E. None of these

Which of the following is true regarding Abhishek? A. Rakesh is
sitting second to the right of Abhishek. B. Raman is sitting second
to the left of Abhishek. C. Abhishek faces Aakash. D. Abhishek is
facing the vacant seat of row one.. E. None of these
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There is a 5x5 matrix which can produce signals which in turn help in illumination of some bulbs. The rows
of the matrix are denoted by @, %, &, £ and ¥ from bottom to top in the same order and the columns are
denoted by A, B, C, D and E from left to right:

¥ row contains numbers which are consecutive multiple of ‘9’ starting from ‘36’.

f row contains numbers which are consecutive multiple of ‘13’.

& row contains numbers which are consecutive multiple of ‘8’ starting from ‘32’

% row contains numbers which are consecutive multiple of ‘7’.

@ row contains numbers which are consecutive multiple of ‘11’.

The matrix helps in producing signals which is a string of numbers. There are four bulbs P, Q, R and S. Based on the
outcome of the string one of the bulb blinks.
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Condition for blink:-
l. If outcome of the string is below 80, the bulb Q blinks.
Il. If outcome of the string is between 90 and 110, the bulb S blinks.

lll. If outcome of the string is between 125 and 150, the bulb P blinks. . |AlB/CIDI|E]
IV. If outcome of the string is between 175 and 200, the bulb R blinks. | | | | | | |
V. If none of the above condition follows then, no bulb blinks. ¥ | 36/45|54| 63|72
For outcome of the string: £ 11326395265
l. If all the numbers of the string are even number then, outcome is obtained | | : : ~ - - i
by multiplying unit digit of all the two digit numbers. & 3240 48|56 64

Il. If a prime number is followed by another prime number then, outcomeis || % ' 7 ' 14 | 21 ' 78 ' 35 |
obtained by sum of all two digits number. | . . _ . _ |
l1l. If a prime number is preceded by a perfect square then, outcome is @ |11 22/33/44 55
obtained by multiplying tenth place of all the numbers. A |

If Y =£B &E £A @D, then which of the following bulb blinks?
a) Rb) P c) Qd)S e) None blinks
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If X=£A %A ¥D &E, then which of the following bulb blinks?
a) Q b) S c) R d) none blinks e) none of these bulbs.

Condition for blink:-

"A B C D E

| If outcome of the string is below 80, the bulb Q blinks. '¥[36/45/54(63| 721
Il. If outcome of the string is between 90 and 110, the bulb S blinks. | , . | , _ |
I11. If outcome of the string is between 125 and 150, the bulb P blinks. £113|126(39(52|65

IV. If outcome of the string is between 175 and 200, the bulb R blinks.
V. If none of the above condition follows then, no bulb blinks.

& 1 32/40/48 56 64
% | 7 14212835

For outcome of the string: | , , | , | |
. If all the numbers of the string are even number then, outcome is @ 11 22 33 /44 55
obtained by multiplying unit digit of all the two digit numbers. | - - ‘
Il. If a prime number is followed by another prime number then, outcome
is obtained by sum of all two digits number.

Ill. If a prime number is preceded by a perfect square then, outcome is
obtained by multiplying tenth place of all the numbers.
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If X = ¥C @D £B @B, then which of the following bulb blinks?

a) Rb)Qc) P d)S e) None blinks TS IR

Condition for blink:- ‘¥ [36145(54(63| 721
l. If outcome of the string is below 80, the bulb Q blinks. | , . | , | |
Il. If outcome of the string is between 90 and 110, the bulb S blinks. £ 11326395265

lll. If outcome of the string is between 125 and 150, the bulb P blinks. - - : - - |
IV. If outcome of the string is between 175 and 200, the bulb R blinks. & | 3240 48 56 64

V. If none of the above condition follows then, no bulb blinks. | % | 7 | 14 | 21 | 28 ' 35 |

For outcome of the string: @|11|22/33 /44|55
l. If all the numbers of the string are even number then, outcome is | | | |
obtained by multiplying unit digit of all the two digit numbers.

Il. If a prime number is followed by another prime number then, outcome
is obtained by sum of all two digits number.

lll. If a prime number is preceded by a perfect square then, outcome is

obtained by multiplying tenth place of all the numbers.
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There are five persons Sarthak, Prachi, Rohan,
Kanika and Gagan. Two of them are Doctors,
while other three are Engineer, Architect and
Chartered Accountant. A doctor and the
Chartered Accountant own a same car Superb.
The other three own different cars viz. City,
Innova and Verna. Two of the five persons stay in
Mumbai, while the other three persons live in
three different cities viz. Delhi, Pune and
Bangalore. The Chartered Accountant is the
tallest, while the doctor who is an ENT is the
shortest. The other doctor is an eye specialist and
lies between the Engineer and Chartered
Accountant height wise. Kanika is an eye
specialist and owns Superb while Gagan lives in
Delhi and owns a Verna. The engineer lives in
Pune and owns a City. Prachi lives in Bangalore,
while Sarthak lives in Mumbai and is an ENT.
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There are five persons Sarthak, Prachi, Rohan,
Kanika and Gagan. Two of them are Doctors,
while other three are Engineer, Architect and
Chartered Accountant. A doctor and the
Chartered Accountant own a same car Superb.
The other three own different cars viz. City,
Innova and Verna. Two of the five persons stay in
Mumbai, while the other three persons live in
three different cities viz. Delhi, Pune and
Bangalore. The Chartered Accountant is the
tallest, while the doctor who is an ENT is the
shortest. The other doctor is an eye specialist and
lies between the Engineer and Chartered
Accountant height wise. Kanika is an eye
specialist and owns Superb while Gagan lives in
Delhi and owns a Verna. The engineer lives in
Pune and owns a City. Prachi lives in Bangalore,
while Sarthak lives in Mumbai and is an ENT.
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Person Profession Place Car | leight What is Prachi by profession? A) Engineer B) Chartered

. s erms , o Accountant C) Architect D) Doctor E) Cannot be determined
SarthakDoctor (ENT) Mumbai [nnova$

Prachi Chartered Accountant BangaloreSuperb|

Rohan [Engineer Pune  (City 3 What is Gagan by profession? A) Engineer B) Chartered
Kanika |Doctor (Eye specialist)Mumbai Superb?2 Accountant C) Architect D) Doctor E) Cannot be determined
Gagan Architect Delhi  Verna #4

What is Rohan by profession? A) Engineer B) Chartered
Accountant C) Architect D) Doctor E) Cannot be determined

Height-wise, who among the following lies between Sarthak and
Rohan? A) Chartered Accountant B) Engineer C) Eye Specialist D)
Cannot be determined E) None of these

Which of the following statements is correct? A) Gagan lives in
Mumbai B) Sarthak owns a Verna C) Rohan is a Chartered
Accountant D) Kanika lives in Mumbai E) Prachi is an Engineer



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

P and Q are two boys and R and S are two girls. There are
four adults, out of which A and B are two men and C and
D are two women. There are two cars - Swift and Jazz -
each of which can accommodate four persons only. Two
children and two adults must be in one car. P and B
cannot be in one car. A and S cannot go in one car. C and
D cannot go in one car. There must be two males and two
females in each car.

1
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If A and P go in one car, then who can be the other two members in
the car? A) Band Q B) D and R C) B and C D) D and C E) None of
these

Which of the following statements is definitely true? A) A, D, P
and R is not a correct combination B) B, C, Qand S is not a
correct combination C) A,B,Pand RcangoinonecarD)A,D, P
and R can go in one car E) None of these

Which of the following can be acceptable combinations of the
people in Swift and Jazz cars respectively? A) A, B, Q, Sand D, R,
P,CB)A,D,P,RandB,C,Q,SC)D,C,P,Rand A, B,Q,SD)A, D,
P, Qand B, C, R, S E) None of these
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Seven persons P, Q, R, S, T, U and V conduct
workshop on Developing Managerial skills in
seven different companies A, B, C, D, E, F and
G on a different day of the week from Monday
to Sunday. The order of persons, companies
and days of the week are not necessarily the
same as given. Q organizes workshop in
Company D on Wednesday. S does not conduct
workshop for companies A and C and conducts
on the immediate next day when T conducts. T
conducts the workshop for Company F. U
conducts workshop for Company E on Friday. V
conducts workshop on Monday but not for
Company C and G. R conducts workshop for
Company A but not on Tuesday.



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Seven persons P, Q, R, S, T, U and V conduct
workshop on Developing Managerial skills in
seven different companies A, B, C, D, E, F and
G on a different day of the week from Monday
to Sunday. The order of persons, companies
and days of the week are not necessarily the
same as given. Q organizes workshop in
Company D on Wednesday. S does not conduct
workshop for companies A and C and conducts
on the immediate next day when T conducts. T
conducts the workshop for Company F. U
conducts workshop for Company E on Friday. V
conducts workshop on Monday but not for
Company C and G. R conducts workshop for
Company A but not on Tuesday.
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Days Companies | Persons Who conducts workshop on Saturday?
Monday B V (a) R(b) S (c) T (d) Either S or T (e) None of These
:l“uesday ¢ ; On which day does S conduct the workshop? (a)
Wednesday D Q Sunday (b) Saturday (c) Tuesday (d) Cannot be
Thursday A R determined (e) None of These
Friday E U :
Saburday F T R conducts workshop on which day? (a) Saturday (b)
Sunday C s | Sunday (c) Tuesday (d) Thursday (e) None of These

Which of the following combinations of person-
company and day is correct? (a) V-B-Wednesday (b)
P-B-Monday (c) V-C-Monday (d) V-G-Sunday (e)
None of These

Who conducts workshop for Company C and on
which day? (a) P, Thursday (b) P, Tuesday (c) S,
Saturday (d) S, Sunday (e) None of These
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Eight persons A, B, C, D, E, F, G and H are seated around the
two square tables. One square table is placed around the
another square table in such a way that four persons are
seated at the corners of inner square table and another four
persons are seated at the corners of outer square table.
Persons seated around inner square table are facing outside
and persons seated around outer square table are facing

I aTF-ﬁ, T-IRT\’T, towards the centre. Therefore the persons seated on the
BT, UteT, &7, T-ﬂF[\’rﬁ?T-ﬂFITI Wqﬁﬁ??ﬂ corners of the two square tables are facing each other. Each
n's‘\tnﬁms'\:ﬂmﬁg‘n E,A %Waﬁaﬂ%l = of them likes different colors viz. Violet, Orange, Black,
forg waR TN %' SAEARS ST T Uq LA ?ﬂﬁ Yellow, Red, White, Indigo and Blue. All the given
ofeRT 1 ST €| 98 fad (o Ren Fudg 8, qe i | | - g i o (e
WWWE’!@W%@@WWW@N%I g information is not necessarily in the same order. E sits to

the immediate right of A. E who likes Orange faces the
person who likes Violet. The person who likes Yellow sits
second to the right of the person who likes Violet. C is
facing inside the table and is facing the person who likes

fed ot SR TS 2

MR ASTBI F ﬁvﬁmwm% Gﬁ?a%'BHﬁ?r D | | Indigo. The person who likes Red is facing the person who
ﬁﬁ? 3:{1%%' G MR HIRD 4 ® 2 Fﬁw likes Black. The person who likes Blue sits second to the left
qER B AR H PTgE ISR ECE RS of person who likes Red. F likes White and is facing the

person D. G and H are seated diagonally and both of them
are facing outside the table. H did not face the person who
likes Blue.
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Eight persons A, B, C, D, E, F, G and H are seated around the two
square tables. One square table is placed around the another
square table in such a way that four persons are seated at the
corners of inner square table and another four persons are
seated at the corners of outer square table. Persons seated
around inner square table are facing outside and persons seated
around outer square table are facing towards the centre.
Therefore the persons seated on the corners of the two square
tables are facing each other. Each of them likes different colors
viz. Violet, Orange, Black, Yellow, Red, White, Indigo and Blue. All
the given information is not necessarily in the same order. E sits
to the immediate right of A. E who likes Orange faces the person
who likes Violet. The person who likes Yellow sits second to the
right of the person who likes Violet. C is facing inside the table
and is facing the person who likes Indigo. The person who likes
Red is facing the person who likes Black. The person who likes
Blue sits second to the left of person who likes Red. F likes White
and is facing the person D. G and H are seated diagonally and
both of them are facing outside the table. H did not face the
person who likes Blue.
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White Blue Who among the following persons sits second to the right of H?
F C A. The person who likes Indigo B. The person who likes Blue C.
B The person who likes Black D.The person who likes Violet E.
Yellow Indigo Cannot be determined
D LN G
LN Who among the following persons likes Indigo color? A. H B. G C.
Black Violet CD.E E. Cannot be determined
/1 H B A
Red Orange . . . .
A E Who among the following persons is facing outside the square

table? A. The person who likes Red B. The person who likes
Orange C. The person who likes Blue D. F E. H

Which of the following colors is liked by the person who sits to
the immediate left of A? A. Orange B. Blue C. White D.Red E.
Indigo

Who among the following persons are facing each other? A. F
and the person who likes Red B. D and the person who likes Blue
C. E and the person who likes Red D. .D and the person who likes
White E. . None of these
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313, R fopare TivfiR, =, ¥, garel, Y¥q-, i”%g, Eight Indian cricketers Gambhir, Dhoni, Raina, Yuvraj, Dhawan,
XgIUl Gﬁ?_laila Y qIPT} ﬁﬁ%ﬂ'{?‘f aﬁv's'auw : Rohit, Rahane and Virat are sitting around a circular table in such a

gﬁ? 3 aﬂlil iﬁ?ﬁw?lmﬂa' ﬁﬁa a% "'ﬁ; STH ¥ 1?;? way that some of them facing towards the centre and some of them
L i i facing outside the centre. Each of them scores different score in one

ﬁmﬁwﬁv 31 % mgﬂgg%ﬁzﬁa; day match vs. Srilanka. Left hand batsman Yuvraj, the one whose

|
K| YR ISTE, ﬁlﬂﬁﬁ@ﬁ%% Orcdd score is 31 sits third to right of wicket keeper, Dhoni, who faces
farTe, S iR &1 AP eay usiRi 81 % 9HE || inside the circle. Virat who is not an immediate neighbor of
, _ , GRSl
3N} 3T 3297 AP a T A Gambhir, faces same direction as Yuvraj and missed his 32nd century
=

e
T, 98 ez WQWWW%%W by three runs, sits second to the left of the cricketer whose score is
R 3P ‘HW%' 1 39 fordbex 1 fepead exact half century. Raina is an immediate neighbor of the cricketer
qg'_ Rt & e Eﬁlillg 50 8| for fpdey TR 927, whose score is 50. The cricketer whose score is 92 sits third to the

%ﬂ?&ﬁmgmﬁ%mm%mﬁ left of the cricketer whose score is 31. Dhoni sits third to left of
wﬁrmﬁwu@wﬁ%%l TR ¥ Arecay Gambhir who is not an immediate neighbor of Rahane. Immediate
q@ﬁq}mwwmaﬂ 3 &1 98 fpdex forgeT | | neighbors of Gambhir face same direction. The cricketer whose
THIX 85 %, WW%W@WWW@B‘[% score is 85 sits second to the left of the cricketer whose score is 25.
RTI®T Wk 25 %I meﬁ%m@ Indian Captain Virat sits third to right of Raina who is not an
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Yuvraj who sits immediate left of Dhawan. The cricketer whose score
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Eight Indian cricketers Gambhir, Dhoni, Raina, Yuvraj, Dhawan,
Rohit, Rahane and Virat are sitting around a circular table in such a
way that some of them facing towards the centre and some of them
facing outside the centre. Each of them scores different score in one
day match vs. Srilanka. Left hand batsman Yuvraj, the one whose
score is 31 sits third to right of wicket keeper, Dhoni, who faces
inside the circle. Virat who is not an immediate neighbor of
Gambhir, faces same direction as Yuvraj and missed his 32nd century
by three runs, sits second to the left of the cricketer whose score is
exact half century. Raina is an immediate neighbor of the cricketer
whose score is 50. The cricketer whose score is 92 sits third to the
left of the cricketer whose score is 31. Dhoni sits third to left of
Gambhir who is not an immediate neighbor of Rahane. Immediate
neighbors of Gambhir face same direction. The cricketer whose
score is 85 sits second to the left of the cricketer whose score is 25.
Indian Captain Virat sits third to right of Raina who is not an
immediate neighbor of Dhoni or Yuvraj. Rohit sits fourth to right of
Yuvraj who sits immediate left of Dhawan. The cricketer whose score
is 12 sits second to the left of the one whose score is 92. Rahane sits
second to the right of Dhoni, who does not score 85. More than two
cricketers who are facing the same direction can’t sit together. One
of the cricketers' score is 40.
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Rohit , Virat
92
Dhoni

: Score of whom among the following is 40? A. Rohit B. Dhawan
C. Dhoni D.Gambhir E. None of these

Which of the following statements is true? A. Dhoni and Rohit
face same direction B. Rahane faces outside the circle C. Two
persons sit between Dhawan and the one whose score is 12
D.None is true E. All are true

Which of the following combinations is true? A. Yuvraj-85-faces
outside B. Gambhir-40-faces inside C. Virat-97-immediate left of
Rahane D.None is true E. Raina-12-opposite of Yuvraj

How many persons are sitting between Raina and the one whose
score is 25, counted to the right of Dhawan? A. One B. Two C.
Three D. Four E. None

Who among the following sits second to the right of Rahane? A.
The one whose score is 97 B. The one whose score is 12 C. The
one whose score is 50 D.The one whose score is 92 E. The one
whose score is 25
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